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7 means ink - NN 7

OVERVIEW
Moon discusses the composition of 1°7.

— 157 9990 R NINNT DINAYN PYIYY IMN XY 157 9P NIN 1YY 1917 DN 13929 99N
The n"1 says that our ink is called 1°7,' but not the ink which is made from
avzoy,” for that is not called 177 -

mooIN proves that 0°¥oY is not 1°7:
— 95713950 INDT $YN TUI NYON) N3V 5133 1303 NI%IN 39 3IN11

For R1%1 ' taught a Xn> 12, ‘if he wrote it with X9 (rain) and X35RX water it is

Tw>’; indicating that X¥5X is not 137 (of our 71wn)
— 150931173 %35 KT 730 NN %9 N9T

For the Xn»72 taught us only about the inks which are not taught in our mw»;
indicating that XX5X (or 2°X¥5¥) is not 17 —

mooin offers another proof that 0°¥5y are not 1°7:
— PINNT 1D 7099 R INNN NI%NN 2299 199 93 9INT INAN 229N 72997 TIND)

And shortly® when the X713 challenges 172K '3, who said that we write first with
791 o1, the X3 challenges this from n1"'9,” why did not the X113 challenge X"
from our ;w7 which mentions 19721

mooIn brings an additional proof that 1°7 is not from 0°%5y:
— )% 172 XYY NAND (3,57 97 naw) NN 1I2ININTI 17 2¥a NN 1907 I

And furthermore a n'"'® requires that it be written in 137 as the Xn»72 states in
73127 P2, “if he did not write it with ink it should be hidden’ (it cannot be used) -

! See 7"Mn who writes: 17 X7 RIWT 2V W 70 1NN oohwam vy ﬂD’bPD WY 177 — the ink which is made from
tree bark and it is cooked in order to make it thick, that is called 7.
% ooy are gall nuts, which are growths on trees (caused by microbes). They are used in making ink.
? X¥oX is the same as °¥oy.
* There is no need for X211 1 to repeat what the 73w» already taught us that we may 72nn2% write with 7.
> The x»3 (on the bottom of this Tmy) discusses various methods how we can have witnesses sign if they do not
know how to write (sign).
% x"5 said we first sign it with P2 *», which is water in which o°¥5y were steeped (see *»2 7"7 >"w1), and then the
o7y sign with regular ink on top of the 17 .
711"1 ruled that that XX5X 1 is a proper an3, so if the 2>7¥ sign on top of the 12 "1 (which is identical to the XxdX "),
it will be a 2n> 3"y an3 which is not Ww>.
¥ If the 17 mentioned in our 71wn is made from 0¥y, then how can the 07y write on the 7 it is aano A"y ano! It
is preferable to refute (or prove) from a 71wn than from a Xn»72.
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— (2,89 97 Man) * N PN YAVUNRTI INP NN 990N)
And that Xn»172 which requires 1°7, is referring to a n''® as is indicated in P79
730 PRI —
— 010 NINY NN 990 HY 95p Yy D89y HY 1573 135215 595
So how can we write with ink that contains 2°25¥ on the parchment of a n''®
which is coated with 2 35y -
— 95951 313 532 5Y 19959 33 PN XM
Since the rule is that 39992 "2 on top of °%°» 2 is not a 2n>.

mooIn concludes with another proof that 1°7 does not contain 2°X5¥:
— (%597 N7Y7 72 P92 1)9INT NN ON 1229 PIPTN TV

And in addition the n''2 infers from that which the X 1) relates in the second

99 of 1771 NOON, that -
— NUTYD 999 13 Y THYI YA NYDY 15V 17 19950 55731 XNTT ROIP 599 9N 39

“»R "1 cracked open a clump of ink and checked’, and that can only be our ink,

which is dry and it is applicable to say he cracked open a clump; however ink
which is made with 0°9x¥¥ *» is not clumpy (it runs) and cannot be cracked.

Mmoo responds to an anticipated difficulty:
— 19991 NOY 13‘]\9‘.7 99U 1919 099 DIIYN DI (3,33 97 naw) PO NN P9I 9NINT RN

And that which X177 29 said in P 72 22 pap all 2997w are good for the

manufacture of ink and the nup 9w is better than all -
— ooy HY 1572 NIN 3293 DNY 797 PRT 91992 13997 INY 99w NINN

That 0w is not 213, for it is not customary to include 21 only into 2°22Y ink -
— DY 17 1900 PYIYY YN NDTP HYMIND NXIN 9IYT ON 12939 99N NON

But rather, says the n''1 that n°w is the moisture of the tree bark from which

we make our ink; mooin offers proof that 97w can mean moisture (and not only resin) -
— NYNAY 0T NIMINY 130T (3,5 41 *NTIT NP P97 M8 NOY 1R N9

Like the X nx states in the first P2 of 171 noon, ‘this one has sufficient

? In the same XN (as 113 172 XYW 72n2) it also states 133 77°w2 72an3. The X773 in NNy cites that part of the Xn>>92
(that 79109 77°w> nwy) and concludes that this Xn>932 is discussing a n"o (not a Anm).
10'See 1) 17"7 °"wA on the very bottom of the '2 7%y, that 2°¥0y2 o*712y o?w "o 5w v 7.
' See footnote # 5 that 7> " is made with o°0y. See “Thinking it over’.
"2 He would compare the color of the ink to the color of the (777°3) 07 which was black.
Bavpisa type of plum tree (also called sloe).
14 See *"v there 77w 1"7 which he translates as X"». This is gum arabic (which is made from the resin of trees).
' This would contradict the view of the n"- that "7 contains no 2¥5¥ and by extension no .
'® The xm3 there is discussing the difference between a 72102 and other woman regarding 773 nXmv. The word 7977w
is used in the same context as 77w, meaning moisture.
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moisture’, which is referring to the moisture of the blood found in a woman.

mooIn offers another proof that 17w means moisture and not M
— DPMTNY NIN 9290 1D PN P9 99V 1D W 91 P97 (8,05 97 oonoa) NYY YD PH92)

And in 7yw %> pp it states, ‘a bitter vegetable has nw’, but a 7> has no 2
only moisture; proving that 77w can refer to nmon>.

mooIn issues a 7097 ruling:
— Torgay HY 1912 1NN 190 21NV O 19529 TOIN 79 TINM

And because of this the n''1 prohibits writing a n''®c with 2°25¥ ink.

mooIn responds to an anticipated difficulty:
— Y590 NIN 197193 XY 0990 D9 (3,50p 97 naw) 22N DD P93 YHRWNY NN

And that which seems to appear in 5an> %> 9 that all w7 *75% do not require

%7, except for 9937, which (seemingly) contradicts the ruling of the n" -
Yisana 95 pro9a Y

I explained it in 52n> %> pa

SUMMARY
A n"0 must be written with 17, which contains no 2°%oy.

THINKING IT OVER

mooIn asks how can we write a n"o (which is y91v») with ink of 2°¥5y, since » X
Ton m "y P2 See X¥ORT 7"'72 2w that the reason P21 M A"y PR M is 2109 is
because 12°1 1°%1 121 202 "7 X?7. However when we write a n"o with %oy ink it is
obviously 72°1, so why should it be 210571

171t is forbidden even if the n"o is not 2°¥5v2 7Wwn (where it is surely MR since 17 "1 2"y P97 "1 PR), but rather it
is 7°02 72Wwn (with lime), nevertheless it is 710K.
'8 The xn™13 there states: 1°72) D07 ¥ N NWR 72N XANW 79 7271 W 32 2°2N21 0007w KX 727402 0™90 173 TX;
seemingly indicating that only 79°x2 requires 17 (but not a n'"0).
"% 73m 7"7. The "1 answers that the X092 there is discussing when we can save it from a fire, w">y.
20 See footnote # 11.
21 See ann nix >"oa.
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